SHAE(EE)AXNETI7MILEEE

NXENFE RIS [1ERCERTR RE (REHRE| & H RE |HEAD|&mTH
EREFER] NXEIT7AILE FREA [FEE)| £8H |#E | BTH FiE4 B |1 R | DiEE
7|1 0] 0 [REEEBEGSIERME B & 3 R44E R5.1.1 | 14 [ R5.1231 [ B & 2 | #iE= 4 EE
7106 |RANERTER B R4FE | R5.1.1 | 104 |R14.12.31] B 2 B | #$E=E M| EE
71 0] 7 [EAFRRIZEEFZHRE B =} : & A XE | XE | XFE BE R E | BEE AR BRE
7| 4] 2 [RANTXEHLE B = § R44E R5.1.1 | 14 | R5.12.31 | B £ 2} #8744 BF | BE
7142 [XEx5IE B X § & F xXE | XE| XFE BE R FE | BEE iR BRE
7142 [AXETFAIVEEE B = : & XE | XE | XE B | BE=E Foig BEZE
7142 [RAFEE-EERE B = § R4%4E R5.1.1 | 304 |R34.12.31| B %= B | #$i5= #E BE
716 1 [RABEERDFTE - EMEICROINE B = : R44E R5.1.1 | 3% | R7.1231 | B 2= 8 | #1i5= Foig BEZE
7| 6| 2 [R&EFE B § R4%4E R5.1.1 | 54 | R9.12.31 | B %% B | #iE= #E BRE
71 6] 2 [RAFIF-FESRE B % § R4fE | R51.1 | 5% |R9.1231 | B 2 B | A= | # | BZE
7 16| 4 [RAREEFICEHILIXE B =} : R4%E R5.1.1 | 3% [R7.1231 | B =& 2 | #i%= K BRE
7164 REERESEXE BE = R4FE [ R5.1.1 [ 5% [ R9.1231 [ B & 2 | $15B= 4 EE
7] 6| 4 |RAEEERZEE B = § R4ZE | R5.1.1 [ 304 [R34.12.31| Bf 22 B | #iE=E A ES
7 16| 4 |RAFEAICEITOXE B = ¢ R4FE | R5.1.1 |30 [R34.1231| B = R | #if= | # | BE
71615 RMUBBBIATIRE __ | B R RFE | R [IF |RI2T[ERR| BB | #f | BR
7 6 5 Rﬁﬁgnﬂﬁh\ﬂ'jﬁﬂﬁ(nﬂﬂmﬁ (Tﬂnﬁ)%iﬂ?% % g E R4£|5 R5.1.1 1055'5 R14.12.31 % g §¥ %;UT’%E {fﬂi E%ﬁ
71 6|5 |RAERSNINT (IR D) BRES B = § R4ZE | R51.1 [ 104 [R14.1231] BE = B | #i5= | BEZE
7| 6| 5 |[RaKECEEE B = : R4EE R5.1.1 | 304 |R34.12.31]| B %= B | #iF= iR BRE
7| 6| 6 [RAFLINEN(BE) B = : R44EE R5.1.1 | 304 |R34.12.31] B 2= B | #i%5= 1K BE
7] 6| 6 [RaEE B = § R44E R5.1.1 | 304F |R34.12.31| B % i | $1%= K BE
7| 8| 2 [ReAEFHHR—F B =2 B | RAERE | R5.4.1 [ 14 | R6.3.31 | B 2 (B | #IFER #E BEE
7193 [RERTLEREEERLIRE B =} : R4 R5.1.1 | 54 | R9.12.31 | B 2 B | $i%= A BRE
71 9| 3 [RANEREERIEAREIETE B = : R4 R5.1.1 | 54 | R9.12.31 | B %% B | #iIF=E Fois BEZE
7 | 9 | 3 [Ras\ERECERIEIATIRSE B =} : R4%E R5.1.1 | 54 [ R9.1231 | B 2 2 | #iF= iR BRE
7| 9| 3 [R&SIERRGEF - IRERZEEHHLE B = : R4EE R5.1.1 | 54 | R9.12.31 | B %2 B | #iIF=E #E BEE
719 | 3 [RANFETEEHEIEE B =} : R4EE R5.1.1 | 54 | R9.12.31 | B 2 B | $i%= A BRE
719 |3 [EABRHEAEHTES B = : & A XE | XE | XFE BE R | BEE iR BRE
41 1[4 [RAZHEDE B %= § R4fE | R51.1 | 14 |R5.1231 | B & B | Aif= | # | BZE
41 3]0 [RAEHEFLEREE B % 3 RafE | R511 | 5% |[R9.1231 | BE W R | #hif= | # | BZE
41 3] 0 [RANFEFIECHE B E |RAFEE | R541 | 5% |R10331 | 8 2T B | $¥=F M| EE
14131 |B9F%asE B X ¢ & F XE | XE| XE BE | BEE iR BRE
141 3] 7 |ANEirEk B =} : & F XE | XE | XE B = Z | BE=E iR BRE
41 7] 2 [Ra&EEHTR B OE R4FE | R51.1 | 14 | R5.1231 | B 2 B | #$¥= | BEE
141 7| 2 |RAEE{THIZ DRI ERE B = B | RAERE | R54.1 | 14 | R6.3.31 | B T B |stgory| BF | BE
4172 [RAEEMEJEDIETE Bt = B | R4FEE | R5.1.1 | 14 [R5.1231 [ B = 2 | PEE | BEZE
141 7] 2 |RAEBBERIRIEE B = B | RAEE | R5.4.1 [ 64 | R11.331 | B 2 (B | #$IIEE iR BRE
41 7] 3 |RABEERXHFE B = B | RAFEE | R54.1 [ 554 | Ro.331 | B = B | $EE Fis BRE
41 7] 4 RAZFES-FFX B = R4FE | R51.1 | 14 | R5.1231 | B 2 B | #$H=E M| EE
141 71 4 |2H%EEE B X § & F XE | XE | XFE BE R E | BEE A BRE




